Attached are two graphs showing the required wind and ambient
temperature conditions to obtain a certain ampacity of 1272 ASC
(each graph shows four different current levels). One graph uses
the DC resistance at 20 degrees Celcius, as used in our standard
ampacity tables, and the second graph uses the AC resistance at
70 degrees Celcius. As is seen the acity for the "worst case"
condition consisting of a 40 deg C ambient with a 2 foot/sec
wind, the maximum ampacity is 950 A for the DC resistance case
and 850 A for the AC resistance case. The ampacity tables
currently being used have a maximum current value of 930 A.

The calculations used to determine the ampacities are derived
from IEEE Std. 738-1986.
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Ac resistance per lineal foot, chm/ft @70 deg Celsius.

Conductor diameter, inches.

Zero location indicates a conductor shaded from the sun.

Ambient temperature in degrees Celcius.
Wind speed in feet/sec.
Elevation of conductor above sea level, ft.

Coefficient of emissivity, 0.23 - 0.91
Coefficient of solar absorbtion, 0.23 - 0.91
Maximum allowable conductor temperature.

Line latitude.
Altitude of Sun in degrees.

Total solar and sky radiated heat.

Azimuth of Sun in morning and afternoon.
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Dc resistance per lineal foot, ohm/ft @20 deg Celsius.

Conductor diameter, inches.

Zero location indicates a conductor shaded from the sun.

Ambient temperature in degrees Celcius.
Wind speed in feet/sec.
Elevation of conductor above sea level, ft.

Coefficient of emissivity, 0.23 - 0.91
Coefficient of solar absorbtion, 0.23 - 0.91
Maximum allowable conductor temperature.

Line latitude.
Altitude of Sun in degrees.

Total solar and sky radiated heat.

Azimuth of Sun in morning and afternoon.
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I I A ity Under Steady-State Conditi
-based upon [EEE standard 738-1986
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temperature will drop below 70.
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